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YF =0=>4,+500=0=

> M, =0=(500)(2)-C, (2)=0=|C, =500N

Ay +Cy :O:>Ay +500:O:>Ay = —-500N
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YF =0=>F, -500=0=
F,. =500N s
YF =0=>F,;,-500=0=
F,, =500N =5

500N B o <
5cC0s45 ;

FgcSinds

Y F. =0= Fy. Cos45+500=0=0.7F,. =-500=

Frp =20 714N s

¢ 07
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YF =024, =0
YF =024, +C, -100=0=>4, +C, =100 =

> M, =0=(100)(2.5-C,(5)=0=

C, =50N

A, +C, =100= 4, +50=100=>|4, =50N
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FrgSING60

FAgC0s60

|:AC
YF =0=>F, +F,; Cos60=0=F,. +0.5F, =0

Y F, =0=50+F,,; Sin60=0=50+0.8F,, =0=

—50
FAB :WDFAB :—625N d)w

F,.+05F, =0=>F,. +(0.5)(-62.5)=0=>|F,. =31.25N
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FgcSin60 - 50N

FgCos60
31.25N

Y F. =0=-31.25-F,. Cos60=0=—-0.5F, =31.25=

31.25 .
FBC :WDFBC :—625N sl
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ZFx =0=>4, -5=0=4, =5KN

ZF}’ :O:>Ay +By _20:O:>Ay _I_By —20 e 3

> M, =0=(20)(4)~(5)(3) - B,

A, +B,=20=>4, +8.13=20=

(8)=0=|B, =8.13KN

A4, =11.87N
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11.87KN FapSin37

11.87KN

FapC0S37
Fac

SKN

YF =0=>F, +F,, Cos37+5=0=>F,. +0.8F,, =5

Y F =0=>11.87+F,,Sin37=0=11.87+0.6F,, =0=

0.6F,, =—11.87 = F,, =—19.78KN | sz

F,.+08F,, =—5=F,.+0.8(-19.78) =-5=

R
SN

F,.=10.82KN




